12,

13.

(b)

(a)

(b)

(a)

(b)

Describe the tourism policy of Andhra

_ _Pradeéh Government.

OBSBE  Pabsy  Pog¥  Sof  ameRy
2:H80W0d.

What is the. importance of waterways in
tourism development plan? -

S ol epnl  Bero¥s” webrges

g 800 EraIB.
' Or .

. How do you show the historical and religious

tourist sports in a map?
TOBE 2B0%0 HoB HEQD Doegol Bowro

W% $50008° o 83807

How do you identify the native tourist
* destinations through posters?

AL améwg FErern ‘36860 oooe o :)r.‘.Som
o803 Ko, -
' Or

Write a réport on the assessment of tourism
services at local level.

08 Sorgeat Soif oo SOBEIR) DB,

4 (3001TTM15)

(3001TTM15)

B.A. DEGREE (CBCS) EXAMINATION,
NOVEMBER 2016.

(Examination at the end of Third Semester) |

Part IT — Tourism and Travel Management

TOURISM POLICY, PLANNING AND
DEVELOPMENT

(Regulation 2015-2016)

Time : Three hours Maximum : 75 marks

SECTION A — (o x B 25 malks)

~ Answer any FIVE of the following questions.
1.  Write the nature of tourism plénning.

Soegeol BoKo Gk, [FerdE Hgpraanid o500,
2. Explain the importance of significance of Tourism.
Sohga¥ | Solfo Y, . PraRg B KO80Hw

DHB0FB,
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16,

17.

18.

Explain the key features of logical positivism.
TOLE (B T TS50 @Y, HopgosHue
JBoshidow.

UNITV

Explain Leibnitz's theory of monads.

Deyey DY) DR TRy HB0HHD,

Or

Ioxplain the concept of man is existentialism.

RS D5I0ES® IS g0 Hre8) 2980

4 © (3001 PHI15)

(3001 PHI15)

B.A, DEGREE (CBCS) EXAMINATION,
NOVEMBER 2016.

(Examination at the end of Third Semester)
Part II — Philosophy
WESTERN PHILOSOPHY
(Regulation 2015-2016)
Time : Three hoturs Maximum : 75 1.narks_
SECTION A — (5 x 5 = 25 marks)
Ans{vér.any FIVE questions.
1. Plato’s concépt of soul..
D65 (P58 e,
2. Descarte’s concept pf mi'nd;
@S_"eﬁ) (528500 00,
3. Knowledge according to Locke.

&8 (558500 gLio0.

4. | Lisse fust percipi.
' {5\)":)_%@23 &8,
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(3001SPE15)

B.A. DEGREE (CBCS) EXAMINATION,
NOVEMBER 2016,

(IExamination at the end of Third Semester)

Part IT — Special English

AN INTRODUCTION TO ENGLISH LANGUAGE AND

LITERATURE -III

-

(Regulation 2015-'2016)

Time : Three hours . Maximum : 756 marks

1. -Answer TWO of the following in aboul 300 words.
' (@x10=20)

(a) Writ the contribution of Alexander pope to
' the Augustan age.
(b) Write a note on the Dictionaries and
Lexicons of the 18tk Century.

(¢ How did the 17th and 18tk Centuly wuteis
1eﬂect mature”? :

2. Write a note on THREE of the following in about
100 words each, @B x5=1b)

{(a) Satire
(b) Lpistle

.' (©

(D
(e)

‘Comedy of manners

Herbic couplet

Penodlcal essay,

Answer TWO of the following in-about 300 wmds

(a).

(b)
©

(@ % 10 = 20)
Why is The Rape of the Lock so popular even
today? ‘
Describe The Rape of the Lock as a" mock
epic.
Summarise conto — I of The Rape of the Lock.

Answer ONE of the following in about 300 words.

(a)

(1)
(e).

. S {(Ix 10 = 10)
Is Robmson Crusoe a religious of spiritual
allegory? Justify your answer.
Sketch the character of Robinson Crusoe.

Elucidate the writing style of Daniel Defae in
his novel Robinson Cursce.

Answe1 ONE of the following in about 300 words

(a).
(b)

(c)

(1 x 10=10)

" Consider The Way of the World as a

masterpiece of the comedy of manners,

Elucidate the Wit and Flumour of The Way of
the World.

What are varying'estimates.of The Way of -

_ the World? .

2 " (3001SPE15)
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10.

Sentence and paragraph structure.

TS 58K FOTE VTREO.

Define Journalism.

ést&@asom DELDOW0G.
Functions of Headlines,
3050 HEBraTed.
Brevity and clarity in journalism. - .
238923065 HOJ3H 2B MRS,
PART B — (5 x 10 = 50 marks)

: Answér the fo]lowing questions.

Describe the rules for writing '(_)f Head lines.

3850y [FrabGeRS Ko Dofdres 288obod.

Or

Kxplain the components of News story in detailed.

TOEEH0S D Senwowery dH8odod.

2 - (3001JRN15)

11.

12,

13.

14.

Explain the importancé of leads.
&Y @Ry duBowod.
Or

Describe features and explain. the - writing of
special features,

b5 178 98800, [SgEHBY S50 Boisod.

Write about different types of leads.

7 D Bsre 'écr-;; 7809 EroHod.

Or

Explain the basic rules to.be followed in the
construction of Body of the News story.

TS BSHST eSBoBHODD (PHNE DB
809 9580W0d,

Explain the importance of Grammar and’
punctuations in a good Neéws writing. '

2000 J@BSBIRS" Trgeann B DoHOTHE

RargHisy 580B0s,

Or
3 _ - (3001JRN15)
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TFrundamental rights.

Ea0E P800,
Directive ;ﬁrinciples of state po}icy.
TR 00 G300, eSTHBY Bori@ren.
-1935 Act.
1935 % Hegdo.
Concurrent list.

éa;‘).)éé BIoPET®,

Amendment procedure of Indian Constitutipn.
GRS Cragolf 199580 DTSN,
PART B — (5 x 10 = 50 marks)
Answer the following questions.

- (a) Analyse briefly Nationalist Movement ‘in
India.

Bah Ao Boxw K8y Hdorr
T,

Or

g (3001POL15)

10,

'Eh

®

(&)

(b)

“{(a)

(b)

Explain the factors that have bheen
conditioned the constitution making in India.

| g orErl KBSy ESIAN woeit

DHBoHRW.

Ekplain the Salient features of the Indian
Constitution.

B TEEOK ST oFEreDd 95800,

Or

Examine the amenity procedures of our
constitution.

0% CramoK 5i5%es 5@&@& DHBODB,

Examine the fundamental rights enrichment
in the constitution. :

CEPOROS®  SOMSEDY  [PSD0E S0
- 583000, o

Or

Discuss the role of judicial review in
protecting the fundamental rights. - '

EREE e H08ERS" TrahIdE o

PO,

3 (3001PO0OL15)
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10,

Accelerator. .-
SiBgBes0.

‘Near money.
- DT 5550,

Paper currency,

5°RBY) (&0,

Macro economics.

' }&gej eag%”"o.

Etfective deimand.

: c‘l’ﬁgg cc}a‘cﬁro&.

PART B — (5 X 10 = 50 marks)

Answer the following questions,
UNIT I

Explain the differences between macro and micro
economics,

RrEy Spo of wi3o Bk, Brros 9980800,

7 Or
Explain meaning, definition of macro economics,
e ey DYGHRH eﬂgz&nm 3);’380{5_0&.

2 " (8001ECO15)

11.

12.

~13.

14,

15.

16.

DHBOBBH.

UNIT IT

Explain the concept of national income.
208 e3P0 aTRNO 580B04,

Or

Explain the cireular flow of income.
HBADH estrah [Sardrod 9980%Ew.

UNIT IIT

Write about the J.B. Say market law.
8.0, 230,65 Do DHBoHN,

Ox

Give an account of classical theory of employment.

| opimad af'fler BrroBniy 9560508,

UNIT IV

Explain the importance and limitations of -
multiplier, '

Me¥o Gk, Py B0 BB

~

Or

‘Explain the Keynesian theory of money.

8%y widgoe® RERoBB00R0 D5B0BIL.
3 (3001 ECO15)
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jwr §

What is self serving bias?
ey BBgvOR 05l edmd?

£

Define attitude and describe its characters.

D28 DYGD0H ¢ 0Feasined HIBowudw,

Write about Bogardus method of social distance
scale.

BIER D00 OB JIHR JHBOBIBW.

What are the barriers of effective communication?

DI (DIBAHN0 ©08 KOO HHBOBIR,

Explain the social perception process.
Rropul [SHgE, TR HBBOBITL.
SECTION B — (6 x 10 = 50 marks)

Answer ALL questions, '

(é) Define social psychology and - descube it

scope. ‘
Aog¥ BT DPITZAVN DEGHOD BD JBER
@vo:mm).

Or

2 (3%*01PSY15)

10.

A1,

(b)

(@)

(b)

(a)

(b)

Bxplain the observation and coxrelatlon
methods in social psychology.

Rroa0¥ BoT'0eEd wHID Dot 583000 IS
SoBakn  Sid0R0s %505 :agafm;:p A
95805050, |

What is social perception and write the
theory of correspondenee interference?

RROROY [HEEN BTN, 55533065{3 50835
05 DroBBdy KH80d p’din?.‘fuo
Or

Write an essay on attribution process.

- el DI HB0Y 8 TGOS [0K0H0.

What is impression management and explain
the techniques of impression management.

PEO0H DV - DITID.  OPROD B85
DEGTEd HEFHVOD DHBOWIB,
| Or

Write an essay on impression formation and
its process.

oy Doojesen o)éo)d 3¢580 a’)qs“;é:m@:ﬁa
DHBoWBIBY. A
3 (3*01PSY15)
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Write about data link layer.
G 08 BoHb 0809 raod.

Write about news groups.

B e K809 a0,

Write about fundamentals of TCP/IR. ‘
TCP/IR G, Socsdvody K800 Frobod.

. Write about virus and anti-virus.

DD 20805 AroeYER K809 ERaHIHM.

Write about fire walls.
8Sy 18on Erabod.

(@

(b)

PART II — (5 % 10 = 50 marks) -
" Answer the following guestions.

Explain advantages and disadvantages of

- network.

3590 B o, Bapo 108D B80S0,

Or

“What is a network? Expiai'n different types of )

Network. -
2588, SOTRN? 2 o ::5&353;@ maoa

FroH0d.

2 (3001COA15)

10.

11.

12.

(a)

(b)

(a)

(0

(a)

®)

Txplain session layer, transport layer.

P55 BAHB, LrRydig BB K80 pdBovoG.

Or

What is a protocol? Explaih about SMTR,
MIME protocol. S

@55 S eisneday? SMTR, MIME @eesssne%

-~ $Bod 958ovod.

Fxplain advantages and dxsadvantages of
Internet.

208365 B e, Spoo K80 HSBoB0R.

- o
Explain about search engines with examples.
2GS Sme SR ROBID P AR e O

25803908,

~Explain about Internet security design.
_aomB&eg ?oéﬁr’?sﬁeg Doyeso K809 JH8oB0s.

Or
Explain about protocols of communication. '
850750850 965’57 3800 HIB0Bos.

3 (3001COA15)
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II.

e
(g)
(h)

oV oL AN ST AN b
KJO&@"U"&JSC@

.
(o]

56 (808 (S $drerRres oaDod. (5% 10 = 50)

(a)

(b)

(a)

()

@

(b)

)08 EDee Btoen HHB0HIN.

Soe

B DY OGO HDBoBod.

o), B8 REIRRGIR Koo $H8oB0d.

- Bor
§ 0D Seargpo Gisor 5BBaHo Batod.
ol ardy VOBST HHH DD ariSB
(S8R0 Sojodod.
3l

Bty 568 ¥ DesarRy Hi38odod.

2 (3001SPT15)

(a)

(b)

(a)

(b)

efa;’m&:é BB see0’ Bk, a@g}ém

Fendodt.

See

$rged Eoee 9336 DBy ¥er Br¢Bd

Bewsod.
TODE Tarw FrONS” BORK et SRS

S - .

B850 BIAHBD 2E7DoB0d,

3 (3001SPT15)
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Central secretariat.

Bops SowracHSN,

Globalisation and public enterprises.

BabigBoN Soen ~ [SB0E.

Autonomy of the U.P.S.C.
ULP.S.C.3B08), H55090 558,

National development council.

B SENA 20Ed.

Guptas Administration. '.
e o,
SECTION B — (5 x 10 = 50 marks)
Answer ALL questions; '
(a). Examine the role of Indian Prime minister.
* e,&oasefe (B D00® B $S880HH0.
. Or

(b) Discuss the main features of DBritish
Administration in India. -

rot B0 @3 el By ofErod
B8y00.
2 - (3001PAD15)

10,

il .

12.

(a)

O

()

(b)

(a)

(b)

Assess the functions of the Indian president.
PR ets) Wé‘.\ﬁ@ DO 0BT HOTV[W.
Or '

Bring out the functioning of .centrew—state
relations. -

Bo|s o7 Dowomre HdKS DOSEALB;

Explain the characteristics of corporation
form of public Enterprise.

(9308 Bol B0 Gty oFerody 28700
Or

Explain the functions and role of a state

‘governor.,

nS o NG @Y, Doy,
56890 HBW. |

Bring out the role of Distriet coliector, |
ey EBEEH Bk, i $88oHdw.
Or

Fvaluate the administrations of welfare

‘programmes in Andhra Pradesh.

e30(38 85 orod® DogHsiEare ey
HER esodTEHOLOBN. '

3 (3001PAD15)
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ot

10,

Emile Durkheim social solidavity.

NS 0B) Py Iy pEH.

Types of suicides.
e&éﬁ&&’)"éﬁée}esﬁ 2 ¥5ren.

Alienation.
PRVVILH.

Types of Authoi‘ity_.
65830 S D Ysren.

SECTION B — (5 x 10 = 50 marks)

AnsWer ALL questions.
UNIT I

Describe Auguste Comte’s classification and

_ hierarchy of sciences.

By Sy ), P8 TYo e W8
908 K800 DSBOBISD,
| Or

Discuss Comte’s “The law of Three stages”.

GIY T DHBHD BT 5EO VARV KBy

{58‘30&);&».

9 - ~(300180C15)

11.

12,

13.

14.

UNIT I
Descﬁbe' the Spencer’s ex‘rolutionary tﬁeory.
Wb B0Y, ABrE Sy DERoBRD 0°8)
25BORIB.
Or

Iixplain the theoretical concépts-of Spencer.

9o k), ”@cgo@g FTTORD BOVHHN.

 UNITII

Tilaborate the concepts of Karl Marx Historical
and Dialectical Materialism,

wES  H00B)  WHRSH W8 By, T

a0, MdBem (OK St HBEB0RD.
Or

Explain Karl Marx theory class conflict.

S8}y DeToBEpid B BoSfesiy 9580,

3 © (3001S0C15)




" (3001SOW15) |
B.4. DEGREE (CBCS) EXAMINATION, NOVEMBER 2016,
. (Examination at the.end of Third Semester)
Part I — Social'Wérlk
. SOCIAL WORK METHODS
(Regulation 2015-2016)

Time : Three hours Maximum : 75 marks

SECTION A — (5 % 5 = 25 marks)
Answer any FIVE questions.

1.  Historical Devélopment of case worlk.
358 e 556" TOBE ePH.
2. E:{plain Erieﬂy abéut the uti]iziilg resources in case work.
353 o 9EBS” 55800 BRI -0y sggmnv gséepaaifm.
3.  How do you use groiup “;fork in hospitals? i
5% So|mros® SrBunirl DO del) DYFFOBIL.
4.. What is the role of a case worker in medical sefting? g
?_(35?5 SoKoS® $g8 DT EEY d‘mgb a‘JﬂLé 3Bo?
5. Describ_e fhe importance of social case -work in family system.
Henow 55552656 358 fxlzaﬁ $EB Goosy; @véooa{,séﬁéo é)éaoéoén.
6. 'E.xplain brieﬂy about develbping -résources in case work.

558 Do 5EBS® SH80 ePHBD 18 KB SHBOWID0.

_-:l

Narrate the historical development of group work.
| SRarTe B Bk, TOEE 080 BesPBw. | ' .
8. Describe group work techniques in communities.

SBo0TraDRwe S’ PR DeBOLD DBBOBIB0.



10.

11.

13.

14.

16.

 SECTION B — (5 x 10 = 50 marks) .
" Answer ALL questions.
UNIT I

Write about the definition and principles of case work.

358 o :::égg oo, RS, (o 10°8) Erafosn.
Cr

What are the ways to affirms problem solving capacities of an individual in case work.

553 B 556" 553 W, B5a%g> $6,BoBKe BogE Jey MBoBBRR.

UNIT II

Describe any two components of case work in detail.

358 b 585" D3 Dotk womeky Km8) SH00DIED.

Or
Exﬁlain profession_al relationship as a component of case work.
38 o 558S5% 9@ Somogreiss A0y 85608,
| | UNIT III.
Discuss the rolé of case worker ir_l schc;ol_ and industrial settings.
SeSToey DB @va@;ﬁmé 6qﬁmege5'5 éé% VT TEY By, :‘JvLéRii ééao;fw;ﬁm.
Or |

Explain different roles of case worker in general.

O

B8 I SEgEY DUGETONDOVD Aoy HBod J3BoBIBL.

'UNIT IV
Describe the techniques.of case Wo:g'k in working with individuals.
B008° Zod SOIA0BHE B B 5ZBS* & 08BE TR 25805050,
Or
Explai_n rapport e.stab]ishmen‘s: a.nd interviewing skills. |
SoBoTRoy DEyERE e S0Bakn SEHS) (interview) :50:1»@‘@@@@ D8BoBIZ0.

2 (3001SOW15)



UNITV
17. Describe the values and principles of group work.
SR sy 558 Goo¥); Hevdew, BrEre dHBowodn.
A - Or
- 18.  Write an essay on use of group work in communities. '

FARTEEDBINOST SR v ;’age@a @I Rody DTHD0D K0y a8 DEIUSIICLes Ak S

3 | ' (3001SOW15)
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B.A. DEGREE (CBCS) EXAMINATION,- NOVEMBER 2016.

(Examination at the end of Third Semesfer)

‘ Part IT — History L
LATE MEDIEVAL AND COLONIAL HISTORY OF INDIA (1526 TO 1857 AD)

Time : Three hours

SECTION A — (15 marks)

(Regulation 2015-2016)

 Answer ALL questions.
1. Match the following : |
BB
(a) Akbar Naﬁéh | (1)  Shivaji
)b T 2
(b) Chain of Justice . - (ﬁ) Founder of Britisil Empire
0% Hr08) | PSR T2 S0tk
© Sarde,smﬁkh . ' (i) 1857 Revolt
B i 1857 S3r000 S0
() Cjive 7 : | | ‘(iv) dl ahapgir '
3D | . _ Craleate
" (¢) Mangal Pande ' (¥) Abﬁl Faza@
. DooNE D00t o |  es20eS PesS
2. Multiple choice :
BB B0 L;mm@-:
) (a)- Second_battie of Panipat
Botss 2SS oaugo '
S (m 1527 C (ﬁ_) - 1556
(i) 1605 - - iv) 1765

Maximum : 75 marks

Gx1=5

(5 x 1=5)



(b)

Whose memory, the Taj Mahal was built? _
() Nurzahan ‘ (1) Ladli Begum
(i) Mumtaz Begum ~ (iv)  Roshanara

258 P50 TERTS DBEIRESE

@ RES L) g B
(i) Swomrd DKo : Gv)  &5zeoe
(c) Tarabai was the wife of :
(1) Sambhuji (i1) Raja Ram
© (i) Sahu (iv). Baji Rao
Frorgraw HBST 58 g
iy Boslre Gi) owTd
@) o () - erdo
(d Doctrine of Lapse was introduced by '
(i) Dalhousie (i) - Wellesley
(iii) Robert Clive _ (Gv) Henry Lawrence
Toess SoEdoes DETBB % DEIHS
©  &FH ) Ded
(i) o83y | () RevY
(e) Permanent Revenue Settlement was introduced by
@) Bentick OV E]iph-instone'
(i) Cornwallis o (iv)y Manroe
TS 30 DFOD JLED (558 DFHE ———— .
@) - Boe3E ) 293858
(iif) .svéssaﬁ@% . (iv) o
Fill in th_e blanks :
. P00 JréodHam
(a) Babur defeated the Afghans in the battle of
b SRR LE0DR ANEO e
(b) The last Mughal 'Kiﬂg was

LT RO ——

c(Bx1=5)

(3001HIS15) -



“10.
11.

12,

- {¢) The Council of Ministers of Shivaji were known as —

B GHENT Ry Boo® Bookd

(d) The first Kuropean settlément in India was stated by the

SrEEE0S® ot 8% RS S B0H0BB
{e) Thé Maratha leader of the 1857 Revolt was ——— e
1857 &X0102renS’ SeR) 00> FRaEI

SECTION B — (3 x 5 = 15 marks)
Answer any THREE questions.

What do you know about Humayun?

| SOR007S K809 $820 BAGKW?

Write about the Akbars religious policy.
85,5 0% 950 K0Bod [Erafiusu.

Explain the Clives dual government policy in Bengal.

| 39 BomSS® SHER tsods 563w KB6o 2580550,

Write a note on Mahalwari system.

DT 558 K080 o,

Write the greatness of Jhansi Lakshmi Bai.

5278 ofgeron ARBS0S K78y oS,

‘What do you know about Peasant movements?

BaroX trereRy K809 HE0 BOR?

SECTION C — (3 x 15 = 45 marks)

~ Answer any THREE questions.

\

Describe the social; religious and economic conditions during the_Mughél period.

Q050000 5700 T B00E, 208 WBCKL B TERWSDO HFoBod.
Narrate the ddministrative introduced by Shivaji.

B2 BB HETHZ0R DIBODE.

Describe the career and achievements of Robert Clive.
TfEY B%0, oD s S0 EEHI.
: ' 3

(3001HIS15)



13.
14.

15,

What is the economic impact of British rule in India?

EEH0E’ AR 20w S0 T GBE BErHsn D580HI.

What were the causes for the decline of cottage industries in India?

PrEGR50S" £2638 S8R0 $30%er08 Ko sderes D272

Explain the causes for the 1857 Revolt.

1857 d2rone S0 TBSMH S8eres I9B0HI®.

(3001HIS15)
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B.A./B.Sc. DEGREE (CBCS) EXAMINATION, NOVEMBER 2016.
(Examination at the e.'nd of Third Semester)
| Part II — Mathematics _
ABSTRACT ALGEBRA & ABSTRACT ALGEBRA PROBLEM SOLVING SESSIONS
(Regulaticn 2015- 2(_)16)
Time : Three hours o _ - o | Maximum : 75 marks
PART A — (5 x 5= 25 marks)
Answer any FIVE quéstions b
1. It every element of a group G if its own inverse, prove that G is abehan
G B STTENS (56 Boreso B, 96%En R B eaomasé G IDOSHS Boredn
RNHBEIOED JIEHA0.

2. Prove that the set of integers Z is- an abelian group for the operation * defined by
a*b=a+b+1lVabez.

Z &5 g Sopge SV * &8 368 a*b=a+b+1V a,be 21 DEDOISTE Z IBOHS
BRI BDHBOOED DIEH D0
3. IfGisa finite group and a e G then show that O(a) divides O(G).

G 28 56208 T80 29800 a e G wowd O(a) @38 0(G) D erAsyeB e JI3Db0s.

4. - If H is any subgroup of a groﬁp G, then prove that H1 = H .

H 056 G S50°58:09% 28 aS58arsan sovd B = H o9%06 57580,

5. Show that every subgroup of an abelian group is normal.

IBHOCHS BITTH0 B, (58 ESHRTE0 SBe0w ESTZITED ©5BOED Bvgd00.

6. VProve that the homomorphic image of a group is a group.

DDOTPETH00 G300E); BH0EISS (SED02H0 e TrIEHn @908 @ SIvEE.



10.

11

T12.

123456

E th tati
xpress the permutation (6 5438 1 9

] as the product of disioint cycles.

L 23845 .F?] B 5Re55005 D00 BHED GO FTEsIE.
6 543139, % = R

G is a cyclic group of order n and ‘e’ is a generator of G. Show that a™ is a generator of G if
and only if (m, n) =1.

G DSOS Ko 28 DB BTEB0 280 ‘0’ , G B 2.8 235 Barero sond o™ &58 G $D

2PEROL0 SHERS S SO DALDIRD (m, n)=1 &R B,

PART B — (5% 10 = 50 marks)
Answef FIVE questions choosing One from each unit. .
UNIT I

If G is a group a-nd a, be G then prove that the equations ax =& and. ya =5 have unique
solutions in G. ) ‘

‘O R o8 T30 H8A0 G, be G 0B ax=b 20000 ya=b & HoEmsneH G S° 938

© RSB0 GOLTEAD BINHB.

Or

Prove that the set G 'of real numbers other than -1 with operation .* such' that
a*b=a+b+abV a,be( is an abelian group.

G=R-{1} &5 52088° * «d 588%H a*b=a+b+abV a, beC 8653)03)?6%31@ G IBHI0HS
DRTEIPR0 @DBOOS BITHH0. ' -

UNIT I
State and prove Lagrange’s theorem for finite groups.

58208 FZrTEneP BTod JoBHND (S5H20D DETHOBOD.

Or

Let H be a sub group of a gioup Gand a,beG. Theh prove that (a) Ha=Hb< ab e H

(b) aH =bH «>a”'be H.
H o6 G S350 o8 ES98rmirsn 2980 a,be G wowd () Ha=Hbw ab™ e H
(b) aH =bH < a™'be H @ 35°5Hdw.

s (3*01MAT15)



13.

14.

15.

16.

17.

18.

UNIT III

If H is a subgroup of G and N is a normal subgroup of G, then show that (a) HAN isa

- normal subgroup of H and (b) N is a normal subgroup of HN.

G &0 SHrFrdws H a8 a55%0r5Emn 508050 ,N a8 oo QE.’JE\')K)JJ“’XJ":ID A0S e leta)
TPOD DETDO[R.
(& HNN ¢38 H % epoow éa@m?mbw (o) N 923&3 HN 5% 0002 &50805°5050.

. Or

Prove that a subgroup H of a group G is a normal subgroup of G if and only if each left coset
omeGlsanghtcosetomeG

G S50 S0y, H e 3550075750 eeon &SH50rrtn smdd edi Sogs dahBsm
G S° H @), 58 260 35508 G S* H SBoog), & SIBAY HBOOSD WITHD0.

UNIT IV

Show that the necessary and sufficient condition for a ‘homomorphism f of a group G onto a
group G with kernel K to be an isomorphic of G 1nto G' is that K = Ker f ={e}.

f:GoG &3 af DORS  SSekrNe BoogErid RG0S eéé§§ Soog aomm:m
K = Ker f ={e} o 355H30.

Or.

Prove that every homomorphic image of a group G is isomorphic to some quotient group of G.

G BT Gk, SHEESE EBowEn 0 GNE, Y BrENs Gogrsss
EDOI0062008D BIHw.
UNITV

Let S, be a symmetnc group of n 'symbols and let A be the group of even permutatlons

then show that 4, is normalin S, and O(A )= —n'

S, ©d8 n Scieres Ko @ogzs B20TR0. A, o8 SBESwe SHrTHL. wand 4, ¢B8 S,

& oPoon ESSRTIRY @HE08 260 O(A4, ) = -é]l-n! 93 S0,

Or

Prove that every subgroup of a cyclic group is cyclic.

S50 BHareHEE B0l 5O STTHIHH0 BIF0H TRTEEHN ©HBED BIHE0.

3  (3*01MAT15)
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'B:A/B.Sc. DEGREE (CBCS) EXAMINATION, NOVEMBER 2016,
(EXamination at the e!id of Third Semésfer)
A ) Part II — Statistics
STATISTICAL METHODS —I
. | (Reé*ulation 2015 - 16)

Time : Three hours - : - Maximum : 75 marks
~ SECTION A — (5 x 5 = 25 marks)
Answer ény FIVE of the following questions.
1. Define correlation coefficient and mention its properties. |

BH50208 Hreinoks DE500008 HBakw T Soesy Begd.

2. Define Rank Correlation coefficient and write its formulae for tied ranks and untied ranks.
§%3 SrSowods KoeEhnRo d8saovod Moo §haen @émégé@_ééyéa, DRTHR0 TGP
B EreR raod.

3. Explain correlation ratio.
- ARHoRod DHED 2580HR0.
4. Mention differences between correlation and regression.

B Bomoshn SoBa HENHsHve S0ss BEEneis Beyin.

5.  Explain fitting of linear equation.

388 By H0B0BIT DDBOHI%0.

6. Explain association and independence of attributes.

Foewe SBHSHN BBk SgHOEHBR) DSBOHI®.

7. Explain parameter and statistic.

JoRDOH ;50801)3 évoaaégoe):éo :)é_SOQ)Km.

8.  Explain sampling distribution.

- BB gt HHBoyHRw.



10.

11.

12.

13.

14,

15.

16. -

SECTION B — (5 x 10 = 50 marks)
Answer ONE question from each Unit.
UNITI
Prove that correlation coefficient is independent of change of origin and scale.
555001085 1m0 BTEBOMD, e BFBED STESES: 8D DEFDoHIL.
Or.
Derive Spearman rank corrélation coefficient.
RABRS 863 $I30204 Meahntd eamBoniu.
UNITII
Derive i'egression line of ¥ on X,
X 208 Y (581555 Bayso &wnB0B08.
Or

Prove that regression coefficients are independent of change of origin but not scale.

BSRR0% Foesren Boys Sr8yED SEESED 50 0,00 SrED emrEtEsd dErDonHm.

UNIT III
Explain ﬁrtting‘ of power cui"ves.
#8 3% Domridomy 95B0HB.
Or
Explain fitting of exponential curves.
58 BEeR0 BomrDoBies 596050,
UNIT IV

Explain the conditions for consistency of data for one'attribute, two attributes and three
attributes. . ' '

- SEro% roBED LI 2.8 KedE, Bothd oee%s $o8050 QTS oerd 380w,

Or
2Y
Show that @ =—"—.
ow that & 1+Y?
Q= EY,, @ JETDODOE. .
1+Y7

2 ' (3*01STT15)



17.

18.

UNITV

Deﬁne_F_—distributiori and mention its properties and applications.

F- 2725500R0 D005 30BaL0 T Somess esyTess Bayv.

Or -
Derive the relationship between 7% and F.

7 9980 F © 5065 SomotR) domBosos.

(3*01STT15)



